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�V(r,�,�,t)
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����������� ����������'J�)Br (r,�,�, t) = �
n= 1

N

(n + 1) RE
r

n+ 2
�

m= 0

n

gnm(t) cos(m�) + hnm(t) sin(m�) Pn
m(�)

����������� ��������������'J�)B�(r,�,�, t) = − �
n= 1

N
RE
r

n+ 2
�

m= 0

n

gn m(t) cos(m�) + hnm(t) sin(m�)
dPn

m(�)
d�

����������� ��������'J�)B�(r,�,�, t) = 1
sin� �

n= 1

N
RE
r

n+ 2
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m= 0

n

m gnm(t) sin(m�) − hn m(t) cos(m�) Pn
m(�)
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m
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������������ ����������������������������������������������������������������������������������������������� ���'%*�)P0 0(�) = 1

������������ �� ��������������������������������������� ������� ��'�%*�)Pn m(�) = sin�Pn−1,m−1(�) m = n � 0

������������ ���������������������������� ����� ���'%*�)Pn m(�) = cos�Pn−1,m(�) − �n mPn−2,m(�) m � n, n � 1

������������ ���������������������������������������������������������������������������������������������� ���'%*�)
dP00(�)

d� = 0

������������ ����������������������� ��������� ���'%*�)
dPnm(�)

d� = sin�
dPn−1,m−1(�)

d� + cos�Pn−1,m−1(�) m = n � 0

����������� ������� �������'%*�)
dPnm(�)

d� = cos�
dPn−1,m(�)

d� − sin�Pn−1,m(�) − �n m
dPn−2,m(�)

d� m � n, n � 1
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������������ ����������������������������������������������������������������������������������������'%7)�n m =
(n− 1)2 − m2

(2n− 1) (2n− 3)
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���������������������������������������������������������� �������������������'%F�)Sn0 = ( 2n − 1
n ) Sn−1, 0 n > 0

����������������������������������������� ���� ���'%F�)Snm = (n− m+1) J
n+ m Sn, m−1

 

 
 

J = 2 for m = 1
J = 1 for m > 1

 

 
 
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������������ ���������������������������������������������������������������� ��������������������� ���'%"�)sin(m�) = 0 m = 0

������������ ��������������������������������������������������������������� ��������������������� ���'%"�)cos(m�) = 1 m = 0

������������ ������� ������������������� ���'%"�)sin(m�) = sin(�) cos[(m − 1)�] + cos(�) sin[(m − 1)�] m > 0

������������ ������� ������������������� ���'%"�)cos(m�) = cos(�) cos[(m − 1)�] − sin(�) sin[(m − 1)�] m > 0
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������������ �������������������������������������������������������������������������������'%,�)cos� = sin�

Q2 cos2� + sin2�

������������ ������������������������������������������������������������������������������������ ���'%,�)sin� = 1 − cos2�
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	����

������������ ������������������������������������������������������������������������������'%J)Q =
h a2 − (a2 − b2) sin2� + a2

h a2 − (a2 − b2) sin2� + b2

+��	��������

������������ ��������������������������������� �����'%-)r 2 = h2 + 2h a2 − (a2 − b2) sin2� +
a4 − (a4 − b4) sin2�

a2 − (a2 − b2) sin2�
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������������ �������������������������������������������������������������������������'%!�)cos� =
h + a2 cos2�+ b2 sin2�

r

������������ ������������������������������������������������������������������������������'%!�)sin� =
(a2 − b2) cos� sin�

r a2 cos2 + b2 sin2�

������������� ��������������������������������������������������������������������������������������� ���'%!�)� = � + � − �
2
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������������ �������������������������������������� ���'*1�)BX(�,�,h, t) = − cos�B�(r,�,�, t) − sin�Br(r,�,�, t)

������������ �����������������������������������������������������������������������������'*1�)BY(�,�,h, t) = B�(r,�,�, t)

������������ ���������������������������������������� ���'*1�)BZ(�,�,h, t) = sin�B�(r,�,�, t) − cos�Br (r,�,�, t)
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������������ ��������'?���3��	���$�	����	�)������������ ���'*%�)BH(�,�,h, t) = BX
2(�,�,h, t) + BY

2(�,�,h, t)

������������ ��������'��	���$�	����	�)������������������� ���'*%�)BF(�,�,h, t) = BH
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